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[CB-BC321/CB-BC341]

AT THE END OF THIRD SEMESTER
DEGREE EXAMINATIONS
COMMERCE
CORPORATE ACCOUNTING
(From The Admitted Batch of 2015-16)
(COMMON FOR B.COM (GENERAL), B.COM (VOCATIONAL))

(CBCS PATTERN)
Time : 3 Hours Maximum : 75 Marks
SECTION-A
dgridn - @
Answer any FIVE questions.

AT 0 e Sreessoen [Fea80. (5%x5=25)

1.  XYZLtdinvited applications for 1,00,000 shares of Rs.10
each at a discount of 6% payable as follows: On
application Rs.2.50; on allotment Rs. 3.40, and first and
final call Rs. 3.50.

The applications received were 90,000 shares and all of
these were accepted. All money due was received except
the first and final call on 1,000, Shares.

*Pass necessary journal entries in the journal of company.
XYZ 08E a8 ‘1,00,000 TEFPOB) P ¢ 18 8 10
TQPS 6% B0 mrdH SBEes 8o daogde B
8 TOHEDIH.

ntel

e

P 6. 2.50; B&rowoz) P 8. 3.40; 50 Insd b

%
D 6. 3.50 BYoed.

18,000 [Turn over



2)  [CB-BC321/CB-BC341]

90,000 sréred M S8grQen SNV, o) BB
©0oNE80SEDIB. 1000 Tere IS HocsHn SO devd)
WSS HADS Iwdo sose SRS,

*$020 YTes® D Bihed @abod.

The net profit of a business after providing for taxation,
for the past five years are Rs. 20,000, Rs. 21,500,
Rs. 23,000, Rs. 26,250, and Rs. 29,500. The capital
employed in the business is Rs. 2,00,000. The normal
rate of return expected in this type of business is 10%. It
is expected that the company will be able to maintain its
super profits for the next 5 years.

*Calculate Goodwill on the basis of

1)  Five years purchase of super profits

DP8 Ao DS BB 2.8 ag@*’d 260K®) Qo) AL ergio
DI K& 5 Jod&reH md en 20,000; Sen 21,500
Soen 23,000; Soen 26,250 K085 Son 29,500,

TS DIFPACVS Hredo S 2,00,000. o S5
TgFEo DD TS Noge Ferde orad Bew 10%
BoR) T EHTE 5 BoSE e TG 05 ogre> ©QIBR
FPAOWEIDID.

1) o853 ergroH 5 HodEre Sften. md KHEISH
880508,
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From the following information, calculate the yield value
of an Equity share

BN Dreso sprsore éaé&é e Bws) Teall Dendio
88008,

a)

b

The subscribed Share capital of a company consists
of 5,000, 14% preference shares of Rs. 100 each
and 1,00,000 equity shares of Rs.10 each. All the

shares are fully subscribed.

K08 Some BahadS dresso:

5000; 14% &) artren, aoér 18 8rn100/- TP
80> 1,00,000 el aréren, amee 18 8110/~ P

o) Jetred PO Some BaHadS.

The average annual profits of the company after
providing depreciation but, before taxation are
Rs. 12,50,000. It is considered necessary to transfer
Rs. 62,500 to General Reserve before declaring

dividend. Rate of taxation is 50%.

Eo2Q &0 Dt T°BE ergren (S5rHEew DTED TS
EBard 5°0 H3nH &woed) Eoen 12,50,000.

BRI ‘L{Jééoféé S0OLD FerBes Bestix$% 162,500
Iw&o 268 Fahero 93 EESw. H50)8 Bew 50% T
BASD.

The normal rate of return expected by the investors
on equity shares from the similar type of business
carried on by the company is 20%.

o BB 5P 3(15:)63:6& Koo oD éaésé 53°é3°e>e.3

epolordien e80) et Ben 20%,
[Turn over
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What do you mean by Bonus Share? When are they
issued?

5555 aoeren oSTPRD? F55S TereH JJPE b IRH?

Give the accounting treatment of Discount/ Loss on issue
of Debentures.

BBoSED S50 / B 1) ©FoBof DeFors By,
What do you mean by super profits and average profits?
Den eraren B B3 ereren OPSMR?

What is Book Building?

208 HYoR ©IrI?

Give in brief various provisions of the companies Act,
2013.

g0 S0, 20138 1 Ko DD Do Kiore [Frabod.

SECTION-B
dgreisn - &
Answer ALL the questions.
o) [BHeS aaraved (FeandD. - (5%10=50)

a) M/SABC invited applications for 10,000 shares of
Rs.100 each at a discount of 6% payable as follows:
On application Rs.25; On allotment Rs.34; On first
and final call Rs.35. The applications received were
for 9,000 shares and all of these were accepted. All
moneys due were received except the first and final
call on 100 shares, which were forfeited. 50 shares
were reissued @Rs.90 as fully paid.



b)

(5) [CB-BC321/CB-BC341]

*Pass entries in the cash book and journal of the
company.

M/S ABC OD8E a0t 10,000 sPereth e (ograeo

s30T arer 18 rn 100/~ T3PS, 6% &70t5s

BN dForre IYoTed:

BBy B o 26.

BeronoDe o 34 HBS

DB, SO end Bru 35 |

9,000 Trered md SBgrden SNSD, JNS o

SBEPR0 eIrHoSEDIH. o) Tréron (100 Tere

BB DA HB Hend) ISF) FAndo SBSD. DSeaveD

&) 100 arered 6&53&’)666@_)6&. 50 aréred arér 18

S 90 o 8BA 20 BEHEDIG.

K8 HBo & S Daw ST HdAD g0

Disred® P HESFTOD DEPHEOD (TG,
(OR/Bor)

M/S. HPCL decides to buyback 10% of Rs.100

crores paid up equity capital. The face value per

equity share is Rs.10 but the market price per share

is Rs.15. M/S HPCL takes the following steps for

buy back of its shares:

M/S. HPCL ot Swdo B0 &8 sreriso &mi100

ghe; o 10% Zwesty BOH EHffer SaboosH md

D o S 0, Gl St B S Dend S 10

w0 ol et 66 G 16, M/S. HPCL a7 aréroid

B6R B DMPen Dot S @o& :;gag) wim:wfﬁgr%;i’ei
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i) Toissue 14% debentures of Rs. 100 each ,
par for face value of Rs.10 crores. '

10 8% Sop Deod EOAS Trofh ik 14y,
&80, &BoSt 18 Grn 100/- F°ps e

BAHEDI6.
ii)  To utilise general reserve.
FeSes BN DIBPACBEING.
iii) To sell investments of Rs.7 crores for Rs.8

Crores.
epatde Densd &rn7 &% oo 8 8% Erearahed

93y BADEFIO.
iv) Tobuyback the shares at the market price.
TS Derd> $5% BOR Eftes BEHEIE.
v)  Toimmediately cancel the shares bought back.
BOA BoiPen TR arere Egsad BE) SOVEDRE
10. a) M/s. NTPC Ltd issued at par Rs.30,00,000, 15%
Non-convertable debentures of Rs.100 each.
payable Rs.20 on application, Rs.20 on allotment.
Rs.30 on first call and balance after three months
due from the date of first call. Except the allotment
money on 200 debentures and call money on 300
debentures which were in arrears, the debentur®
money was duly received. The company ulstj
received Rs.7,000 towards interest on the 1'»”“
payment of final call money on certain debenturt
*Pass journal entries. ”
M/s. NTPC 0mm83E, e thmr 30,00,000 Denid 1 }\
Snityy Bawesd EBosgh 18 &m100 TP
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(7) (CB-BCA21/CB-BC341)
DODERHID, EBoE3 200 BIDS Ao BADEDEE.
D08 B B 20/-; Beronode 3 G 20, Tt Send
S 30 0csn HADS Iverd) Insd 2e05% 3 oo
S DYoBLB.

200 &Zcisy Seranod Ando S0 300 EB0EgR
Dendy Indo & e Hok Ando FPBI0. HO D

2 IIPBIS Iogo HIcherdS Sod VO S0 @o&’)
B0 08 Emi7000en $& Indorr £ 43038

s
c..)n.u‘(}tu
e

-.

P Ué“"*c%é Dé.r o@o) aHold.

(OR/8c)
A Public Limited company issued 4,000 15%
debentures of Rs.100 each. Assuming that all the
debentures issued are taken up and paid up for. Pass
the journal entries in the books of the company in
each of the following cases:

g S2E DBE ol % 4,000, 15% &Bos55 18
E 100/~ 59 @0 SEhEDI0. erd dabelds oy
j % n < &

-ed ,n..)&g&) m,,w,;,& 20D CND.

8 SotoRed’ EBo b8 e AE0eD 1o
(o0 Pock R D Dey Shen rabod:
1) The dcbcnlu:cs are issued at Rs. 90 each.

EBOSGD e {008 S0/~ Sgpss end BIdpa.

i) The dc!x.n!uu.» are issued at a prmuum of 10%,

twa{-‘}g%& “f% (ot X 8° w{/ wi;‘—f.m.;

1) The dchcmmu are psued to supphier of
furpiture amouniung o Rs 425 000,
[l‘tmwvu
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(8) [CB-BC321/CB-BC3 41

&4, 25,000 HOSD SRaPTDHIS EBo s, h
BRBIPED.

iv)  The debentures are issued at par and repayabje
at par.

EBoBF Sop DendH (HJEo JoSH) eed Jp,
BBA HREDH Do BHODIKPE.
v)  The debentures are issued at a discount of 5%
are payable at a premium of 4%.
EBoSES 5% BIWPEE° 28 B, 4% (Hevcsos’
DYOIYPL.
The following is the balance sheet of M/s Nanda
Ltd as on 31% December 2015.

Liabilities Rs - Assets Rs
Capital: - Fixed assets 8,00,000
Equityshares Investments -
ofRs.10each  10,00,000 (6%Govt loans) 2,00,000
General reserve 4,00,000 Current assets  8,00,000
Surplus A/c 2,00,000

Current Liabilities  2,00,000 _ '
Total 18,00,000 18,00,000

Net profit after taxation 2013- Rs.2,60,000, 2014-
Rs.2,50,000, 2015- Rs. 3,00,000.

The Goodwill may be taken as 4 years purchase of
average super profits. Normal return on average
capital employed is 15%. The current assets are {0
be taken as Rs. 8,40,000.

Ascertain the value of goodwill.
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3180w 2015 o8 M/s Sooe el odpe Dy
AHSDcHRSE

©Hped Ao espen oo
QreENo: %on‘@nen 8,00,000
S8y aeeren, épen

T 18 Soo (6% K558 Bo0tS
10/-S°5pS 1000000  eXyre) 2,00,000
P8 Besdy  4,00,000 B8 ehen 800,000
WrHen grae 2,00,000

RS eHpen 2,00,000

Sngo 18,00,000 | 18,00,000

DY Soxd JBergo $&Be 201368 Soni2,60,000,
20146 2,50,000 8050 201568 &wi13,00,000.
HEDS Deniiss Tt SIS cogroth s AosEySse
DAY DBowoSEI6.
DIBTAODS DD Lorerso B Feedes rad Sén 15%.
5028 esiige Denisisr 67118,40,00000r SRS SE56,
2 ST 0D HEIS DendHo 880508,

(OR/Scw)

The following is the Balance sheet of M/s Srikanth
Limited as on 31**March, 2014,

Liabilites Rs. Assets Rs.
5,000 Equity shares of Fixed Assets 1,10,000
Rs.10 each fullypaid 50,000

5,000 equity shares Current assets 55,000
of Rs.10 each,

| Turn over



(10)  CB-BCRUCBRCy,,

Rs.8 per share Floating assets 2500

40,000 Preliminary

paid up

5.000 equity shares Expenses 2,500

of Rs.10 each,

Rs.5 per share

paid up 25,000

Reserves 25,000

P&L Account 25,000

Creditors 5,000

Total 1,70,000 1,70,000

The normal average profit of the company (aftertax)
will be maintained at Rs.23,000 and normal rate of

return is 8%. 1’

*Calculate the value of each type of Equity share
by the Assets backing method and yield method.

31 &) 2014 T8 M/s 8s°08 DIBE 6 &Ry &P
58 BrHHICHDEIL.

eohpen Jodo s J0g0
5,000 S&Bareres, | RTKED 1,10,000
et 18 Genl0/-

PP o

300050 50,000

5,000 &b Bareren, B8 ees 55,000
et 18 Goen10/-

FGpis Grn8f-en

Bt ST 40000 PSR eiyen 2,500

N
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5.000 éaéﬂg&m”cn.

ot 18 & 10/- @bé&bé

TIPS Soon §/-en e 2,500
300958 25,000

Oesdogen 25,000

PR grae 25,000

20ETS e 5,000

Total 1,70,000 1,70,000

02 T8 Ferdes Sifew ergo (38 SoxE) &=123,000
DB FLrBe TwEBen 8% grAoSEI0.

(B8 S5 &1 arer Densshr 86A eihe Sifes 558
Baw Tead (yield) D88 (Sseo 880808,

The following is the trial balance of good luck Ltd
as on 31*March 2014.

Rs.in’000  Rs.in’000

Sales 1,87.500
Purchases 1,22.500

Wages 25,000

Discount (2500) 2,500
Furniture 8,500

Stock on 31st March 2013 50,000

Salaries 3,750

Rent 2,000

Sundry expenses 3,500

Surplus as on 31st March 2013 7,650
Dividend pajd 5,000

Share capital (50,000) 50,000
Debtors and creditors 18,750 8,750
Plant and machinery 15,000

Cash at bank 8,000

[ Twm over

t
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Reserve
Patents and Trade marks

8,000
2,400
2,64,400 2,64,400
Prepare Trading Account, P&L A/C, P& L
Appropriation account for the year ended 31*March
2014 and balance sheet as on that date. Take into

consideration the following adjustments.
i)  Stock on 31st March 2014 was valued at

Rs.40,000,000.

11)  Depreciation on fixed assets @ 10%
1i1) Make a provision for Income tax @ 50%
iv) . Ignore corporate dividend.

31 &8y 2014 & 1H&EE’ OMBE 5770 eoBere STRen

OO H2BSD.

SRV

SN

SSTren

&6

3663_‘563

31 &r8) 2013 8BS
deren

©3

QDG BBYen
2013 &rd) 31088 Iorhen

BhoOH ADBOE)

ey Soveolpioo

Benu(‘000) B=n(‘000)
1,87,500
1,22,500
25,000
2,500
8,500
50,000
3,750

2,000
3,500

7,650
5,000
50,000



b)

(13) [CR-RBC1CR RO 14T

oMy Jpldly R ite

18,750 8.750
oty Soba ocsmen 15,0010
pofs® Sxp R.000
b&&};ﬁ: £.000
B0ty Sy B8 Setipen 2,400

2.64.400  2.64. 400
31 a0y 201480 BSOS Ty SoBS 08 el A0S
NRERD ISBKnG O e $GED wer. oo Spe

e DO ey 3%0 AR groedh Sairdobhod,
1) 31 508 2014 26 5% 40,000,000
Dend BLHEDSE,
1) PoPOD 10% Scrtde s BEIGTISL.
1)  eorabd 35538 50% womey Jabod.
v) 56 Bt AD2085 28D Achor.
(OR/Ecr)
Prepare balance sheet as at 31st March 2016 trom

the particulars furnished by Duplex Lid, as per
Schedule - HI of the Companies Act.2013

Particulars Rs. Particulars Rs
Equity Share
capital (Rs 10
cach fully paid) 500000  Advances (De) 4160
Call in arrear 800 Prepaid

iy wdend 45,000
Land LOOUN  Surplus

HBalance LY
Huiding 20000 Cash gt bask | 97 600
Plam &

L Tl os g



(14)
Machinery 4.20,000
Furmniture 40,000
General reserve  1,68.000
Loan from IDBI  1,20.000

Loans (unsecured) 96,800
Provision for

taxation 54,400
Sundry debtors 1,60,000
Adjustments:

[C ,'B—B(BZl/(,’B-B(,'34I|

Patents
Sundry
creditors
(For goods
and expences) 1,60.000
Stock:

Finished goods 1,60,000

Raw materials 40,000

10,640

1) 1500 equity shares were issued for
consideration other than cash.

i1) Loan of Rs. 1,20,000 from IDBI is inclusive
0f Rs.6,000 for interest accrued. The loan is
hypothecated by plant and machinery.

six months.

iv)  The cost of assets:

Debtors of Rs. 50,000 are due for more than

Building Rs.3,20,000; plant & machinery
Rs. 5,60,000, furniture Rs. 50,000

v)  Bank balance includes Rs. 2,000 with Trust
Bank Ltd, which is not a scheduled bank.

vi)  Bill receivable for Rs.2,20,000 maturing on
30" June, 2016 have been discounted.

vii)

The company has contract for the erection of

- machinery at Rs. 1,50,000 which is still

incomplete.

goBdo 340 2013, S - 3 (S0 Kr§) HHEE
0 DSore 0D 31 500y 2016 B el enpe HE

BATTEEH0R,
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HHOTED
Q B})@j
58® e Solen) DRomes Ando(Eri)
GareegHo(Brn10
FRPS Jeore
B3DONIB) '
) 800,000  ewe(Dr) 34,160

2e0s) LSO 800 Lwodorr

390D

AT 48,000
g5 o0 1,60,000 AN ISR 80,000
gFHToD 2,80,000 ergoHs® JHED 1,97,600
oD evlelevey .
a$o0|(F°e0 4,20,000 8oty 10,640
5B 40,000  DIE

Sogedes D8R 1,68,000 00 EaCTPS 0 1,60,000

IDBI 009 2wes0 1,20,000

i S e 96,800 $G%:
S8 PTNR 54,400 . O
| SEFBR0 1,60,000
DAY aawea@@nep 1,60,000 LpBIBB 40,000
&6335"&.1) ; 3
alay e EJ@qJeJoéq ko 1500 8985 TETO
6 5 B BE:
. eg;DBl <00 &0 & 120,000 (@600
11
) R got 935 & O o B
@
‘5'5-" 8ot éﬁ?éd@é&
?Qﬁa ot 5 3 oo 0%
K2 (53““50.000 6
iil) aw:»L ({); o
o° L)
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a)

b)

(16) [CB-BC321/CB-BC341]

V) e Devden:
gSaren 8n13,20,000; apotn HOED d.’DOL@beD
Goen 5,60,000; $8)S8 8on50,000

V) ergo® Qexd® &rn2000 (0§ egoH OD8ES
BrRE. & g0 ‘z’qd:vegeé" 23508 5o,

Vi) koo ey &m12,20,000 KIS0 30 2378 2016
& &égge» I B0[EID.

vil) Eod adoEre $B5REHe D &=11,50,000
8" SPO[ErE) EDA HIND. SR BoSBEER e HI
2350D0LESD.

What is the right shares? How the value of right

shares computed? Also state the rationality of
issuing right shares. '

8&) aeeren (right shares) oSres3n? 58 5 ddorm
Dreogosmiin Basnsd? BeY) HE) (srerods) wob
Bsoers® Ke 'fove‘éoeocgézéa Benym.

(OR/Sw)
Define Goodwill. Why there is a need for the
valuation of Goodwill? Discuss the various types

of goodwill and methods of calculating goodwill.
8IS OSTID? HEISH Dens BEROB 1P eDEES

AD? DD BEINBS HEDS éa:vo‘gogeav a’:cs&oéa
65?30:‘50&

Sk o Qx kg g
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